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~.¢-'m}m. then rate of increase in the
perimeter of a square is :
(A) 12 em/sec. (B} 16 cm/sec.

(C) 8 cm/secc. (D) None of these
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A) y=tanx-x+c (B) y=scc21+c

[C) y=secx-x+c (D) Nonec of these
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(D) None of these
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If mean of binomial distribution 1s 10 and
variance is 8. then number of trial is :
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N e The d.c's of line AB, where A = (0, 1, 2) and
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expanding.
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Assume that cach child born is equally likely to
be a boy or a girl. If a family has two children,
what is the conditional probability that both are

girls given that the youngest is a girl ?
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e “':.Wirﬂ of length 28 mcters is 10 be cut into two

2% % picces. One of the piece is Lo be converted into a
4 square and the ather into a circle. From where

should the wire be cut so that combined arca 18 |

minimum ?
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Find the probability distribution of the number
of heads when three coins are tossed,

1682 d+b AT a-b % 74 R & 7% aXa §
HfT B a1+ )+ k 3 b=i+2j+3ki

Find a unit vector pcl_'.pcndicular to each of the
vector a+b and d-b, where @=i+ j+k and
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2x+3y+3z=5
xX-2+z=~4
Ix~-y-22=3 _ rt
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Find the wholc arca cnclosed by the circle
ey’ =a’.
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~ Find the equation of the planc containing twc
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Solve the following L. P. P. by graphical methed :
Maximize Z = 6x + 11y ot i3 Sl
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Subject to the constraints > . 2

2x+y <104
x+2y <76
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